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He renders her fit for 7172 even in the - 259195 2193 Y955 vWON
situation where a majority of disqualifying people are available

OVERVIEW

"2 maintains that according to X" 3"1 the woman is niaX1 and 7Ww>
ANI99, even in a case of T2¥K 099109 11.' The X3 in PwITp states that it is
SIRW XaX who maintains 297109 2172 19°0X; and not A". nMdOIN will resolve
this apparent discrepancy.

- SINY NN 3 (w1 x,79 purtp) PONY DIVY D93 1999INPT N

And that which the X3 states in 1°0m° 77wy P72 concerning the mwn’
which states that »IR® RaR —

- PV YINYY NP 1N

would refer to a "panw as a SP173. A >p1nw is a child whose mother is known, but
not his father. When the child refers to anyone as his father, his mother silences him;
hence the term *pnw. 7Xw Xax would refer to this *»nw by the name °?172; he is

verifiable.
= 9NYYA) TYOY NININY 1IN NN PPTAY NI YI90)

And the X923 explains what is meant by *?172. This child can be verified as
being a "w> child for we verify by the mother; by asking her who fathered

this child? And when she claims that he was fathered by a =w>, she is
believed and the child is 7w>. We do not suspect that it is the child of a 7°"n1 or a 7mn.
= 9995 NY2IYN NNN NI RTN NN INIIN) 1299 NN 79999

And the X713 challenges this explanation and asks like whom does 918w Rax
rule; like PX"%3 921 we already learnt this one time in a 7aw»; referring to

our 71wn, she was pregnant, etc. "1 maintains that if she claims *n%y21 w3 she is

believed —
- DYVIPA DY Y9 191 IINY NN 90N 199 19909 799 711 *w1se

The explanation of this question in the X723 is why does the 71wn state this
ruling of 2XW RaX as an independent ruling when the 71wn should have

"It seems that "2 derives this from this Xn90I1n of 121 M7y 1 which is cited in our X»3. The fact that >"3
compares N1271 to 712w, indicates that the discussion between 3"1 and *"2 was even in a case of 2°7109 2.
2 X,00 A7 7O 7wy PO,

? The term w170 (and 7193) are used when the explanation given is different than the apparent explanation.
The simple interpretation of the question is why 23w X2X mentions this 1°7 at all, since it was already taught
by 2x°723 127. Perhaps the reason mooin (and *"wn) reject this (‘simpler’) explanation is because it is not
understood why the opinion of 23w Xax should not be added to that of "1 and R"9. Especially if he was a
later Xin, as is apparent from the X723,
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stated, and X2 XaR also stated as 1", that the WX is NIARI to claim W35
'nova1. It seems that 7KXW RaR is merely agreeing to the ruling of "9, and so

does >"'wn there explain it in the same manner as Mmoo stated.”
= 9919 NYNN DY 2192 NN NN DN INT INOTN) 1291 NOMTY DINY NANT 2IWN)

And the X ) answered that the reason the mwn cites XY XaX as an
independent view, not merely as agreeing with 1", is because XY NaN
teaches us more that »''9, for if from there; from our 71w» in N2> where
3"7 states that she is niXi, I may have thought that she is believed only
when there are a majority of 2>9w> by her, etc. Therefore 28w Xax teaches us

that she is believed to say °n%va1 qwa? even if there are 77¥X 0°9109 217. This concludes
the citation from the X373 in Y7 NOOA.

mdoIN now presents his question:
= 199909 2192 12%9X 9PWINI INIDNI)H 1397 NID 19IINT 2) DY 9N

even though the X713 states here in the name of "> that 3''9 is = won

even by 279195 217, Why does the X3 say there that 2°9109 2172 9°wan is the addition
of MXw Xak and we do not know this from "9, when our X3 clearly states that 3" is
TWwon even 0°9109 3172.5

n90IN answers:
- ©55109 2192 299ONT 219 Y¥NWN NI PNINNMDIY PIINNN NP JINY NN

DINW RaN is referring to our mw» itself and from our 73w» (in M21Nd) per
se it is not indicated at all that it is discussing a case of 299195 237, It was
only (the X71mR) 9"27 who maintains (by inferring from the Xn»92) that 3" is w1 even
2709 2172, The mawn itself gives no such indication. Therefore the X723 in PWTR states

that by citing 18w Rax as making an independent statement in the 72w, this indicates that
mwn itself views the 2w>i1 to be effective even 0°2105 2172,

moon concluded that the discussion of the XX in PW7P concerning the difference

* »"p1 there states that the question was that the 71wn here in M2 should have added: Ww Xax 77 127
'1"9272 MR, (and it should not have been mentioned in w17 at all).

> mooin prefaced this question by first interpreting that the question of the Xn3 was that the 7awn should
have stated 21w XaX X 19, If the s'%3 question had been that "X should not have been quoted at all (see
previous footnote # 3), mpon would have no question. The X713 cannot ask that the 71wn should not teach
us a 7 (of ©°9109 2172 PWwan) since we can derive it from a X192 (or an X7MK); the mwn itself wants to
teach us this 17. However, since the question there was that the 71wn (here) should have stated w"& X 121,
the subsequent answer there is not understood. Granted that w"X wants to teach us that he is 2°won by 21
o°7109, but 3" agrees to that as well (as "2 inferred it from the ®n»"2), so why did not the 7wn simply
state that W"X 7nK 191, (See 2"w 1 0"mn.)
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between 2"7 and 7Y XX is only regarding what is apparent from the m1wn itself; not how
the subsequent 2°X7 MK interpreted the 71wn. This leads MooIn to discuss an additional
difficulty. The X7n3x there originally stated that %W XaX is adding on to 3"9 that even the
daughter is 7727 77Ww2. The & 13 there rejected this interpretation. M»oIN continues to
discuss that X723:

= 22 PYINY AN JINY NANT 9929127 2 NINT INNDD DP¥Y 0NN 7999 XM

And that which the X3 there, previously challenged according to that
which the X713 originally wanted to say that »I8w X2 is coming to add on

3"7, that the daughter is also 9w> (even though she has no M w> npin as the
mother). The X3 challenges this assumption that 23w XX is adding nai won, by asking —

= N2 YOI NA 9PV 929D 9INT INIY NN
This answer is appropriate according to the one who maintains that even

3" who is 2 won the mother, nevertheless he disqualifies the daughter. We
can then explain that ¥"X is adding that even the daughter is 77> —

= 919999 NN INI NN 9PYIN MINT NN AN
However according to the one who maintains that 3"7 is also 7n32 9°wsn

what can be said! What is w"xX adding to 3"9? This concludes the citation from the
X3, According to what was previously said that we do not concern ourselves with other
statements; only with the statement of the 71wn, what is the s'%723 question. In the mawn it
is not at all clearly stated that 3" is 77n22 9°w2n (in fact it is a NP2 between the xR’
as to what 1"7 rules concerning the n3), therefore it can easily be assumed that "X is
coming to add that even the N2 is 77Ww2; for 3" never stated it (clearly) in the mwn. It is
seemingly exactly the same as what the X 3 there concludes eventually, that w"X is
adding 27105 211, which 2"9 never clearly stated in the mwn (even though %"2°9 derives
[from a Xn°>>72] that it is so).

moon answers that there is a difference between the assumption of 2°2109 2172 woHn
(which we cannot assume from the 71wn) and the assumption of 7n22 7°won (which we
can assume from the 71wn):

- AT 9239 5Y 1200 N1 NPT MIYNA PYY Y 1959N1 %9 7599 BNN

6 13m1 *27 and T1Y9X *21 immediately following our X33,

7 The X"wamn is MY9K 27 oM who is 7n22 How. Seemingly the ‘question’ of 19°0X' is much stronger
according to X" who clearly maintains that 7n32 %01 (and hence how can we say that 3" also maintains
[clearly in the m1wn (according to 711 )] that the n2 is 77W2 as W"X maintains); as opposed to "7, for
whom we do not know whether he is 7°won or in22 0. The ‘answer’ according to the X"w1mm, will be that
X" also basically agrees that the 7awni 1% indicates that in33 °won, however there is the ’n>>92 of *pinw,
which indicates that 7n2a S0, therefore X"J maintains that 7n22 501 72 PwonT XA, However even he
agrees that if not for the Xn>"2 of *Pinw, the miwn indicates that 1022 7°won. Therefore according to i ",
who interprets that even the Xn*"2 of >IN agrees that 7in22 7°won, then certainly the 71wn itself indicates
that 3"9 is 71022 PWon.
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There (in the case of 7n22 7°won) it is a proper challenge for even
according to °9%¥T who maintains that n7272 means 77001 and therefore we
are not compelled (as according to *0OX 27) to interpret the duplicity of 77n02
and n9v21 to include 72 7°wonH and 7022 w22, nevertheless even according
to "7°y1 the syntax of the mmw» which reads, ‘what is the nature of this

fetus’; this syntax of mentioning the child —
£ N2 PV INNT YIUN

indicates that 3"7 is coming to be 2°w=% even her daughter®. Therefore since
this is indicative in the mawn itself (as opposed to 2" being 2°2109 2172 °Wwon which is not
indicative in the mwn itself), therefore the X nx there in PwY7P asks properly that
according to this 7"n, there is no need for w"X to add 7n22 °woHnH because 3" already
clearly stated it in the 73wn by using the term 77 22w W 12°0 nn'.

SUMMARY

Our mwn does not indicate whether 3" is 2°2109 2172 °won; we know it from
DIRW RaX in PWITR. Our mwn does indicate that "9 is 7n22 °wan (according
to 711> ") since it uses the expression 1 121 YW 12°0 7.

THINKING IT OVER

1. The X7mx states that 7w XaX teaches us that she is NIAX1 even by 210
0°7109. Do we know this (only) because otherwise 218w XaX is redundant (to
3"), or do we know it from the ruling of 2IRY RaX itself?

2. When the X773 states that 9IRW XaX teaches us that NIAR1 even 2°7109 2173,
does that meant that (only) 2IXW X2X maintains that or that (even) 3"
maintains that?

¥ Otherwise, the mawn should have stated, 717 @R W 12°0 77 or 2"V 7T S IR Hw.
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